
 
 

Examen de Economía Española  
 
 

1) ¿Por  qué  se  considera  que  la  construcción  del  ferrocarril  tuvo  escasos  efectos  de 
arrastre en España?  
 

 
 
 

 
 
 

 
2) ¿Por qué se considera que la agricultura española tiene un marcado carácter dual? 

 

 
 
 

 
 
 

3) ¿Cómo  caracterizaría  la  elasticidad  del  empleo  respecto  del  ciclo  económico  en 
España?. ¿A qué se debe? 

 

 
 
 

 
 
 

4) ¿Qué  dos  razones  han  justificado  el  incremento  del  peso  del  gasto  público  en  el 
producto desde 1975 hasta la actualidad? 

 
 
 

 
 

 

 
 



 

 
5) Aproxime la tasa de crecimiento del PIB per cápita con los datos del cuadro. Explique lo 

acontecido a lo largo del periodo. 

 
Crecimiento y productividad del trabajo (tasa anuales acumulativas) 

 
 

 
 

 
 

 

6) En  qué  medida  los  datos  que  aparecen  en  el  gráfico  han  podido  provocar  una 
modificación de la dotación factorial en la agricultura? 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